
SAP ABAP table RHKB1 {Cost Item of a Business Event (Type)}

RHKB1

PLVAR [CHAR (2)]

EOTYP [CHAR (2)]

ISTAT [CHAR (1)]

KOBES [CHAR (8)]

WAERS [CUKY (5)]

KSTAR [CHAR (10)]

KOKRS [CHAR (4)]

OTYPE [CHAR (2)]

ROTYP [CHAR (2)]

BZGME [UNIT (3)]

CSKB

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

KSTAR [CHAR (10)]

DATBI [DATS (8)]

 RHKB1-KSTAR = CSKB-KSTAR 
0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 RHKB1-BZGME = T006-MSEHI 
0..N

0..N
T778O

MANDT [CLNT (3)]

OTYPE [CHAR (2)]

 RHKB1-EOTYP = T778O-OTYPE 

0..N
1  RHKB1-OTYPE = T778O-OTYPE 

0..N

0..N  RHKB1-ROTYP = T778O-OTYPE 0..N

0..N T778P

MANDT [CLNT (3)]

PLVAR [CHAR (2)]

 RHKB1-PLVAR = T778P-PLVAR 

0..N
0..N

T778S

MANDT [CLNT (3)]

ISTAT [CHAR (1)]

 RHKB1-ISTAT = T778S-ISTAT 

0..N

0..N

T77KB

MANDT [CLNT (3)]

KOBES [CHAR (8)]

ENDDA [DATS (8)]

 RHKB1-KOBES = T77KB-KOBES 

0..N

1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 RHKB1-WAERS = TCURC-WAERS 

0..N

0..N

TKA01

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

 RHKB1-KOKRS = TKA01-KOKRS 

0..N

0..N


